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int i; int i; int i;
i=123; i=0173; i=0x7B;
5
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/* BHEHMEE intconst.c JAVNEEE */
#include <stdio.h>
int main()

{

int i;

I=123;
printf("%d¥n",i);
i=0173;
printf("%d¥n",i);
i=0x7B;
printf("%d¥n",i);

return O;
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(Brk 0.1234x107% =12.34)
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double d; double d; double d;
d=12.34; d=1234e-2; d=0.1234E+2;
;
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/*EHEMEER realconst.c TAUHEBE =7
#include <stdio.h>
int main()
{
double d;

d=12.34;
printf("%6.2f¥n",d);
d=1234e-2;
printf("%6.2f¥n",d);
d=0.1234E+2;
printf("%6.2f¥n",d);

return O;
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x = a /b *c;| =——p X = (a/b) *c O X
x = a/(b *c)&lEED,
y = -a-b*c; |mmp y = (-a) -(b*(-c)) O

HENWDTETHNIL,
FEIlE D> TEHRLI=ZADLIY,

x = (a/b) *c;

y = (-a) -(b*(-c));
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/*  $EEHEER priority.c OAVNEEE  */

EER3 #include <stdio.h>

int main()

{ int
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x=-a+b/c*d;

y=-(a+b/c*d);

z=-((a+b)/c*d);

printf("x= %3d , y=%3d, z=%3d ¥n",Xx,y,2);

return O;
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radius=10.0;

radius

radius

area=3.14*radius*radius;
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int i; int j;
double d; double e;
d=1.2; 1=1;

i = (int) d; e = (double) j;
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int a; int a;

double b; double b;

double c; double c;

c=a*b; c= ((double) a) *b;
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C++; c=c+1;
AMDEZH,
d--; d=d-1;
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Bl | #include <stdio.h>
#include <math.h>

#define MAX 1000

FE-JUT7OoveyHTIE
AXRICEZaALUT; 1ZDIFELY,
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Hdefine

#define XF351 XF352
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#define M_PI  3.14159265358979323846 /* pi */

math.hnOHFTISERINTLVD,
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#define EPS (1.0e-5)
int main()

{

yukou=data+EPS;

int main()
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yukou=data+(1.0e-5);
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stdio.h: ZEZ£AHHNHA
( printf() ,scanfQEMEZ D &LIZ7D, )

string.h: X5 {32 F
(strepy(),strempQENMEZ D LDITHED, )

stdlib.h: #{EZ#. SEREVETH
(atof(),mallocQOEMNMEZ D LS(27D, )

math.h:$= %A
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printf("131:¥n");
ORDXFEIHNEEZEERAICHNTEI14TSEE

thDREFEEAEDOEDER

diag=sqgrt(2.0)*edge*2.0;
IlﬁlL‘ls'?JJ% sqrt: FARERDZT4T SR

a=2.0;
diag=sqrt(a)*edge*2.0;
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Makefile D30k 1B

LVEFE TDMakefile

CC = gcc
all: RIT774IWVE (V—RIT7/ LD .cEBRULM =D
D)

e, avnNAILATarvdELDO T, MFEEH#HS1T S
(MSA4TS))ZRANBY—REIV /NS ILTELLY,

HESATS)ERNDEEDMakefilelFUUTDKIIZEHRT S,

CC = gcc

LDFLAGS=—Im

all: RIT774IWVE (V—RIT7( LD .cEBRULM=D
D)

(HAFREHSR)
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Makefile 3

CC = gcc
LDFLAGS=—Im
all: ET774ILE& (J—RIT7ALILIL.cERRLM=3
D)

Makefile
CC=gcc
LDFLAGS=-Im
all:heron
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/*

{ERZ B :yyyy/mm/dd

YERLE - RIEAXRER

FEEEES B0OzBOXxX

Y—XT74)L:heron.c

E{TI74)L heron
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BANT EDEHEL.
EDIEFICAAINTEHLLY,

HA: 5263 BDRIEZHFO=AMDOEIEE
BEHAICH AT S, mEIFEDEH,

*/
/>  TOUSLERKIEIROR—=IDLIE */




2008 FEERTOT ST BEEER FARBELGHE-T)TOwyY

#include <stdio.h>
#include <math.h>
int main()
{ _
/> ZEPREE */
double edgel; /*B1ORS*/
double edge2; /*B2D RS>/
double edge3; /B3N RS>/
double heron d; /* A0 DARF
D—ERTFHAOEEH™>/
double area; /*3AROmEIE*/
/> RR=I~f< */
35

/* ASnE */
printf("iZ1NES:¥n");
scanf("%lf",&edgel);
printf("iB2NEE:¥n");
scanf("%lf",&edge?2);
printf("A3NEE:¥n");
scanf("%lf",&edge3);

/* RR=UAHK */

36




2008 FEERTOT ST BEEER FARBELGHE-T)TOwyY

/> STENE */
heron_d=(edgel+edge2+edge3)/2.0;

area=sqrt(heron_d*(heron_d-edgel)*
(heron_d-edge2)*(heron_d-edge3));

/> HAhHNE x/
printf('3AFDEIEIE %6.2f TI, ¥n",area);

return O;
by
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$gcc -Im heron.c -o heron
$ ./heron
B1DES:
3.0
W2DRS: 1B A A
4.0 (F—R—Km5
A3DRSE: THAL)
5.0

SAOEHEL 6.00T9,
$
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